, @H ‘ * %ﬁ Toisen asteen yhtéldiden ratkaiseminen
6°0

Nimi: Paivamaara: Pisteet:
X’ — 14x+48 =0 X+ 11x+28 =0
7+ 55x =72 =0 X = 5x—36=0
6x> — 55x+56 =0 5 +31x—28=0
2 . 2 _
X —4x—21=0 X —13x+36=0
57— 1lx+6=0 10x% + 51x—54 =0

www.snowmath.com


https://www.snowmath.com

, @H ‘ * %ﬁ Toisen asteen yhtéldiden ratkaiseminen
6°0

Nimi: Paivamaara: Pisteet:
X’ — 14x+48 =0 X+ 11x+28 =0
xX=06,8 x=-4,-7
T+ 55x—T72=0 X —5x—36=0
8 x=-4,9
= — —9 D
X 7,
6x> — 55x+56 =0 5 +31x—28=0
7 4
- -8 == 7
X 6, X 5,
2 . 2 _
X —4x—21=0 X —13x+36=0
x=7,-3 x=4,9
57— 1lx+6=0 10x% + 51x—54 =0
6 9
== -2 -6
Ty T 0
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